EARAROBEEIERT — 2 N— IBISH —F 20145108120 (B) 4m%E=2H

ViR 5% 3/t 1000AT [HETE] &= ‘ [%2] % ‘ [(ErmE] — | 4 (5 14000 &

[A&4£] 1 % :10,200,000 B ~ 2 7% :4,100,000 3 7 :2,600,000 @ . 4 # :1,500,000 @ 5 # :1,020,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

11713 7> xXF v > it 3 5—13%552 1:(2_3).9 13-13 | 35.5| 99.8 | 1 458 if/ufﬁf/(%f;ﬁg
RTLLFFEIT 4 BN HA R K O \4a7,24

2|58 | Z7 LR "3 ?E%m_ (11:214/411) o %8| %00 fgg /szk)t/(%if)t»x
R:TUHARI> K B:FF—-U—T #stt /—Xex

sl 5| 7TV RET— 73 ;mNU_ }f@; 2 §7.3) %80 8 oo E%E?J%f;acing
RTANETySa BFLTIRTY— #8) | ez

1 > FIEE AN k4|t 12 s -1 |87.6]9%.2| 2 (4323) L L)
R A k=L BT RS RNAA R4S

AR EUEE S 6| AlES 1(/%;)3 10-10 [ 36.5| 96.1 | 13 (ﬁag) ﬁgsﬁéfﬁlv_:/yﬁ,
L:TANVRTyYa B:T7U—4LMLAIL (B) HBEa-KL—-—ra>aEI7

H - MESSEPEEE RS H o4 féﬁ’_ﬁgﬁﬁk 1(:12/42.>4 44 37.3| 95.2 | 4 | 512 Eiﬁ% (ER)
QREFA—ATUNF1 BiA—v— KLy O 1 %@) saa-—xL-va>az7y

N s NEZAETETE 4 5 g%m@ 1(@24%;1 5-4 37.2] 952 | 3 440 ;EEEE €39
QFa—TLNTE BTITFLA NS —F 9 |Eman zmyr—n

gl7l12 7B b %3 | PBEA 1245 2-3  |37.5| 943 | 7 | 516 %z;;:% i)
LRIY—tb—A— BiYq—FAIO=— 2 N S

9lgl14| 7UVHI1ZRT—2Z #3 | DBEX o 15-15 | 35.9| 92.3 | 5 | 494 ﬁﬁ% ()
LIUYLRILE BLAhT T #2 el ge

wlslgl21xvL12 5 glgf'(ﬂ)ﬂ#;& 1(:12/42.>8 12-11 | 36.8| 91.4 | 12 (4:;20) f’igﬁi*ﬁjﬁ)—h
R:T7TFEx BiaAF AT ABREH ESRU—h—25>F

11l8l15 2 26 | MELA 124 10-11 | 36.9] 90.5 | 14 <4f22) %@% (E#)
LT w L INEry b Yy 9= F FEZ &Y K

120l 6| TEHANRTZT L f 7 | RERR 125.0 96 (374|807 | 15 | 2 |/MEUME ()
LA FNELY b B TSy KALE R =T

T - RI=ES PP t> 5 %‘%E% 1(:32/%1 13-14 | 36.6| 88.6 | 10 | 464 ;@ﬁiii ()
b4 7xTv— BrnNdyh (+4) HET77— L4

14 7| 223235 44 gg*‘g%ﬁl 1:26.0 6-7 38.6| 81.5 | 9 482 ﬁiéggéiﬁ)

. 5 N

QA RSTLAE— B:5U—3a07—X © M8 gm2 sy ¢

150 o | AL <& K= [B] 3 | AEHE 1:(277>.1 8-8 [39.4]73.0 | 11 | 512 gigg (R
LRINYELHTT BTL NI R ST

@ 21 L

E»y) 49.3-37.2

NA24 L | 12.4-10.9-11.3-12.1-12.3-12.3-12.6

® 1—F—@EBIERL

13—7F-

23—+ —

== 3(5,12)4,10-(8,7)2,6-(1,15)9-(13,11) 14

40 —F— 3,5,12(4,10)8,7(2,6)1(9,15)-13,11,14

[ N5

B 13 320/ 74K 8-13 990/ B 5-7 1,520/ JEE 5-8-13 12,580

8 B 13 160M 5-13 1,200 B = 8-13 2,600M 3EE 13-8-5 51,1104

8 330M 5-8 3,110H B E 13-8 3,980
9 450M

ABICOVWTRDTEEERROODE. TR LIV,



